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Attempt all guestions. The marks carried by each part of
everg‘%uestion are indicated against the same.
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1. (3) What do you mean by monopoly power ?
How can the Leamer’s Index of Monopoly

td |-

power can be used to measure it ?, 7

OR $
What is third degree Price é?scrimination ?
How does a discrimin@ating monopolist

allocate his output charge different
prices in different matkets to maximize his

profits 7
- |
(b) How will a“Multiplant Monopolist

maximize prafiand how will he decide
how much %‘chat output each plant should

produce ?.§

~2
|

OR
What do you mean by peak load pricing ?
Show how peak load pricing can be better
policy than uniform pricing in case of
public utility company producing electricity ?
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2. (a) Explain Cournot’s ~dupoly model with
action-reaction ¢ for the following

market demand :

Q=14-P Wh@Q Qi +Q

MC, = Msz—z’,Z*r

What proﬁ@he two duopohsts will earn ? 7%
OR '

What Cartels ? Explain why OPEC

cartel was successful in raising oil prices.

(b) What is Prisoner’s Dilemma ? Why do
oligopolistic firms find themselves in a
Prisoner’s Dilemma ? 7%

OR

What is meant by price leadership under
oligopoly ? Explain the model of price
leadership by a dominant firm.
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(a2) Derive the d \c‘l curve of a firm for a

single variable~factor under the conditions
of perfect competitions in both product and

factor ma@ets.
= or

Give the indifference curve analysis of

labour supply curve. Why is it backward
bending ?

(b) Under what condition can trade unions help

in increasing both wages and employment ?
Use diagrams in support of your answer.

OR
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(b)

What is the concept of economic rent ?
How is it related to transfer earnings ?
Explain with the help of diagrams.
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Explain price r&ty with the help of kinked
demand cupii@nodel.
= oR

What § you mean when we say that
monopdiistic competition leads to excess

capacity ? Is this outcome necessarily
undesirable ?

What do you mean by risk ? What does it
mean 10 say that a person is risk averse ?
Why are some people likely to be risk averse
while others are risk lovers and few risk

neutral ?

OR

T
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An individual is considering two investment
projects. Project A will return a zero profit if
conditions are poor, a. profit of ¥ 16 if
conditions are good, and a profit of ¥ 49 if
conditions are excellent. Project B will retum
a profit of ¥ 4 if conditions are poor, a profit
of ¥ 9 if conditions are good and a profit of
T 49 if conditions are excellent. The
probability distribution of conditions are as
follows :,

Conditions: Poor Good Excellent

Probability : 40%. 50% 10%

(1) Calculate the expected value of each
project and identif@the preferred

. project according to tfiis criterion.

(i) The individual’s vgllity function for
profit is equal tofhe square root of the
profit. Calculateithe expected utility of
each project identify the preferred
projects acédrding to this criterion.

(i) Is this igdividual nisk averse, risk
neutral-graisk seeking ? Why ?
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With the help of the Edgeworth Production
box diagram, explain General equilibrium
of production. What does the production

contract curve indicate ? 7-;-
OR
7 P.T.O.
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If there is only one individual in society,
how economic efficiency in production and
exchange (and maximum social welfare) is
achieved ? Explain with the help of
diagram. :

What is Public Goods ? Explain why
private markets will fail to provide public

goods efficiently ?

OR
What is market signalling ? How can 1t be
used to solve the probl of adverse
selection  resulting fr§ asymmetric
information ? O
SR
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